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PART A: Vocabulary
Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.

Then mark the correct choice on your answer sheet.

10-

Fierce winds and deadly waves were only one - many explorers like Christopher
Columbus confronted when sailing to unknown lands.

1) suspension 2) obstacle 3) shortage 4) variation

In urban desert areas potable water supplies are stressed by increasing demands that
leave water managers -----—-------— to find new supplies.

1) discouraging 2) refusing 3) invading 4) struggling

The sense of smell diminishes with advancing age—much more so than the sensitivity to
taste. This ————--—----—- may result from an accumulated loss of sensory cells in the nose.
1) decrease 2) merit 3) ambiguity 4) defense

True, all economic activities have environmental consequences. Nevertheless, the goal of
shrimp producers should be to reduce the -------——-—--- effects on the environment as
much as possible.

1) indigenous 2) competitive 3) deleterious 4) imaginary

Like most successful politicians, she is pertinacious and single-minded in the —--------— -
of her goals.

1) pursuit 2) discipline 3) permanence 4) involvement
Knowing that everyone would —----eeceeeeeee after graduation, she was worried that she
would not see her friends anymore.

1) emerge 2) conflict 3) differentiate 4) diverge

Certain mental functions slow down with age, but the brain --------—------ in ways that can
Keep seniors just as sharp as youngsters.

1) composes 2) conveys 3) compensates 4) corrodes

It is argued by some that hypnosis is an effective intervention for -------—---——-- pain from
cancer and other chronic conditions,

1) displacing 2) alleviating 3) exploring 4) hiding

Children who get —--—- -- atmosphere at home for studies perform better than
students who are brought up under tense and indifferent family atmosphere.

1) favorable 2) valid 3) obedient 4) traditional
The post office has promised to resume first class mail -—=-=-—=-———-—-to the area on
Friday.

1) attention 2) progress 3) expression 4) delivery
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[ PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
space. Then mark the correct choice on your answer sheet.

Colette began painting while she was still in her youth. (11) —===eeeeeeeeeez 1970, she
completed her first performance with Hommage a Delacroix. (12) was
the beginning of an artistic career (13) =—=—ememmemmmex to the oneness of art and life.
(14) ~—=mmmemmmmmmm_actions and performances on streets and public squares. followed by
her "living environments" and the "windows", (15) in a selected pose
with an elaborate arrangement of fabrics and lace.

11- 1) Since the year 2) During a year of
3) For a year of 4) In the year

12- 1) that it 2) which 3) that 4)it

13- 1) devoted 2) was devoted 3) to devote 4) devoting

14- 1) Street works then came 2) Then came street works
3) There coming then street works with  4) With street works then to come

15- 1) she remained motionless 2) that in there she remained motionless
3) in which she remained motionless 4) that in it motionless she remained

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

There are two types of agricultural crop residues. Field residues are materials left in an
agricultural field or orchard after the crop has been harvested. These residues include
stalks and stubble (stems). leaves, and seed pods. The residue can be ploughed directly
into the ground, orburned first. Good management of field residues can increase
efficiency of irrigation and control of erosion. Process residues are materials lefi after the
crop is processed into a usable resource. These residues include husks,
seeds. bagasse, molasses and roots. They can be used as animal fodder and soil
amendment, fertilizers and in manufacturing. Nutrients in most crop residue are not
immediately available for crop use. Their release (called generalization) occurs over a
period of years. The biological processes involved in soil nutrient cycles are complex. As
a rough guide, cereal straw releases about 10 to 15 per cent of its nutrients and pea
residues release about 35 percent of their nutrients by the next year. The speed of
generalization depends on the nitrogen and lignin content, soil moisture, temperature, and
degree of mixing with the soil. N is released fairly quickly from residue when the content
is higher than 1.5 per cent. In contrast, below 1.2 per cent, soil-available N is fixed (called
immobilization) by the microbes as they decompose the residue. Thus pea residue would
have short- and long-term benefits to soil fertility, whereas cereal straw would reduce next
year's soil supply of available nutrients. Over time. the nutrients fixed by soil microbes
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16-

18-

19-

20-

and humus are released and available to crops. Nutrients from residue are not fully
recovered by crops. Just like fertilizer nutrients, nutrients released from crop residue into
the soil are susceptible to losses such as leaching, denitrification, immobilization, and
fixation.

It is stated in the passage that —--—-—eeenev,

1) process residues are the materials collected from crop processing
2) pea residue has over seven short-term benefits to soil fertility

3) soil-available N is fixed by | per cent of soil’s microorganisms
4) generalization occurs faster in pea residues than cereal straw
The passage points to the fact that -
1) seed pods are among ficld residues
2) crop use depends heavily on crop residue

3) husks have very little nutritive value

4) microbes fix the soil’s needed humus

According to the passage, =------eeeees,

1) process residue denitrification happens very quickly

2) fertilizer nutrients are not immune to immobilization

3) orchard residues release far more N than field residues

4) field residues cannot be ploughed directly into the ground
We understand from the passage that ——---——-eeeeeo,

1) soil’s lignin content is an index of its moisture

2) field residue lowers the efficiency of irrigation

3) animal fodder is often used for soil amendment

4) processes involved in nutrient cycles are simple

The word *stubble’ in the passage (underlined) is closest 10 —=-eemceamacaes,
1) ‘root’ 2) “branch’ 3) “straw’ 4) *‘trunk’
PASSAGE 2:

In both the FAO soil classification and the USDA soil taxonomy. a histosol is a soil
consisting primarily of organic materials. They are defined as having 40 cm or more of
organic soil material in the upper 80 cm. Organic soil material has an organic carbon
content of 12 to 18 percent, or more, depending on the clay content of the soil. These
materials include muck (sapric soil material). mucky peat (hemic soil material), or peat
(fibric soil material). Aquic conditions or artificial drainage are required. Typically,
histosols have very low bulk density and are poorly drained because the organic matter
holds water very well. Most are acidic are very deficient in major plant nutrients which
are washed away in the consistently moist soil. Histosols are known by various other
names in other countries, such as peat or muck. Histosols form whenever organic
matter forms at a more rapid rate than it is destroyed. This occurs because of restricted
drainage precluding aerobic decomposition, and the remains of plants and animals
remain within the soil. Thus, histosols are very important ecologically because they,
and gelisols, store large quantities of organic carbon. If accumulation continues for a
long enough period. coal forms. Histosols are generally very difficult to cultivate
because of the poor drainage and often low chemical fertility. However, histosols
formed on very recent glacial lands can often be very productive when drained and
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21-

22-

produce high-grade pasture for dairying or beef cattle. They can sometimes be used for
fruit if carefully managed, but there is a great risk of the organic matter becoming dry
powder and eroding under the influence of drying winds. Like gelisols, histosols have
greatly restricted use for civil engineering purposes because heavy structures tend to
subside in the wet soil.

It can be concluded from the passage that ———----e-eeeeee,

1) histosols are considered as horticultural soil by FAO

2) if well drained. histosols are ideal for growing crops

3) coal contains more organic carbon than any histisol

4) nutrient-rich acidic soils are not suitable for pasture
According to the passage, the organic matter in muck ---—-=eeeeeeee,
1) is destroyed at a lower speed than it is produced

2) consists of both sapric and fibric soil material

3) has been formed on very recent glacial lands

4) forms 80 ¢cm or more of its the upper layers

The passage points to the fact that ——-—---—--,

1) drying winds cannot affect newly-found gelisols

2) fibric soil has a relatively high chemical fertility

3) gelisols store large quantities of inorganic material

4) histosols are not suitable for construction purposes

We understand from the passage that ——----—-eeeeeee,

1) most soil types consist of at least %50 organic material
2) peat is very low bulk density and is poorly drained

3) topsoil’s aquatic conditions are due to artificial drainage
4) drainage causes acrobic decomposition in acidic soil

The word *hemic’ in the passage is best related to the word ——---=-e-eueu- 8
1) *blood’ 2) *skin’ 3) *bone’ 4) *flesh’
PASSAGE 3:

Hydric soil is soil which is permanently or seasonally saturated by water, resulting in
anaerobic conditions. as found in wetlands. Most soils are aerobic. This is important
because plant roots respire (that is. they consume oxygen and carbohydrates while
releasing carbon dioxide) and there must be sufficient air—especially oxygen—in
thesoil to support most forms of soil life. Air normally moves through interconnected
pores by forces such as changes in atmospheric pressure, the flushing action of
rainwater, and by simple diffusion. In addition to plant roots, most forms of soil
microorganisms need oxygen to survive. This is true of the more well-known soil
animals as well, such as ants, earthworms and moles. But soils can often become
saturated with water due to rainfall and flooding. Gas diffusion in soil slows (some
10,000 times slower) when soil becomes saturated with water because there are no
open passageways for air to travel. When oxygen levels become limited, intense
competition arises between soil life forms for the remaining oxygen. When this
anaerobic environment continues for long periods during the growing season. quite
different biological and chemical reactions begin to dominate, compared with aerobic
soils. In soils where saturation with water is prolonged and is repeated for many years,
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unique soil properties usually develop that can be recognized in the field. Soils with
these unique properties are called hydric soils. and although they may occupy a
relatively small portion of the landscape, they maintain important functions in the
environment. The plants found in hydric soils often have aerenchyma. internal spaces
in stems and rhizomes, that allow atmospheric oxygen to be transported to the rooting
zone. Hence, many wetlands are dominated by plants with aerenchyma: common
examples include cattails. sedges and water-lilies.

26- According to the passage, hydric soils are the result of ----=-eceeeeeee,
1) gas diffusion in the lower layers of acidic soil
2) soil’s prolonged and repeated water saturation
3) pumping of environmental oxygen into the soil
4) combination of water and oxygen on soil’s surface

27- The movement of air in aerobic soils can happen as a result of all these except ----—---—-,
1) rainfall and flooding 2) changes in atmospheric pressure
3) simple diffusion 4) flushing action of rainwater

28- It can be concluded from the passage that -——----——--—-—,

1) the growing season destroys anaerobic environments

2) rhizomes are extended spaces in stems and outer roots

3) oxygen supports forms of life even in highly acidic soil

4) aerobic soils do not create the condition for acrenchyma
29-  Itis stated in the passage that ————--—eeeeeee,

1) some soil microorganisms do not need oxygen to survive

2) anaerobic conditions is soil create competition for oxygen

3) water microorganisms provide oxygen wetland water-lilies

4) hydric soils occupy a large portion of the landscape around us
30- The word ‘pore’ in the passage (underlined) is closest t0 ——---—eceeeeeee 4

1) “link’ 2) *channel’ 3) ‘opening’ 4) ‘route’
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